Ba  C1209-C-209-C-209CS M| EFAL
2l

iz HX| e}
253  EARTH TERMINALS
7| x| A

N

AL
&l K24

Z0{ 7Hx]

ALHR|

=2
=

zes

HEf

aglolg
=

E

zog
Y

Tt}
CHa

C-1209-15

C-209-14

PERIPHERA EQUIPMENT

C-209-31 C-209-32 C-209-33 C-209-34 C-209-35
[C-209-1-2] [C-209-3] (C-209-4-5) [C-209-11~15]
41 L Ls
50
T i . P Lo
‘ : P
far) S |
© e ~ = Y o ( {) = ; | ;
- At N < - - H—+ i
RPNk ! S o ol
&‘{ L : L L
L i 2-M6 LtAL 2-SMC rﬁﬁ N\.2-M LHA}
Screw screw
\2-M LtA
SCrew -
31 S Copper plate | I
N I\ -

EETEN ’ =L 7 15 -
,"9 3.0

HR|Me| H7|

T P f EHHho| HA MR (A i i %
B [w e |« [m[RE0] 35, | S raioee] | Dlvinuion board | aotnd wie s el s5iai)
C-209-1 /30 M10| 90 20512 Nominal diam. | Nominal sectional area
C-209-2 | @ | M8/ 90 | 20513 50015 less | 2mm M5
C-209-3 @ |03 50 20514 51~100 5.5mm?2 M6
i C-209-4 | @ |03 64|37 25| 2 |MI0| 74 [21190 101~225 14mm? M8
™22 | c2095 | @ [wm|50(23|21] 2 |M6| 38 | 21191 226~400 22mm? M10

12 62 @®: ROHS CH2E  A: RoHS ofl CHg 7hsgfLict. XoiE F2e of M E L 401~600 38mm?



x| EXF C-1209-C-209-C-209-M

Xt
X
gx
C-1209 C-209 C-209-M =
A AR sxl  F==
g dls
2k
[C-1209] 7| | L
(C-1209-13~15] [C-209-21~25] A Y eHE: AHBA ZTHSUS304)
L1 L1 F&EE= 72| HA H(C1100BB)
Lz L2 e HH Ot 72| £3F
P P (C-209]
‘ ‘ At ¥ e x{E!L HZIIA ZEH(SPCC) stal
| i ; ; i | FH&HE 18| HA HH(C1100BB)
H - 1= - 1= o EH OiRa|: 7| =2 o
1 <%‘ E} 1 | <%‘ E} | 2 ©  eujExEl.FHZ 2hxl K2
Zl\élclr-étv} 2_|\£c|r—$v}\v+ (C-1209) %
Specifi- ® Material: Stainless steel plate (SUS304) o174z
i - cations Connecting section: Copper
I 1 -~ 1 A buss bar (C1100BB) ALx]
T U I « ® Finish: Copper plating =
30 (C-209]
3.0 : Specifi- @ Material: Cold rolled steel plate (SPCC) aff
cations Connecting section: Copper
buss bar (C1100BB) |
(C-209-31~35] (C-209-41-43] e Finish: Copper plating JE"EO"E
L1 70 Specificuse ® Power/distribution boards and cubicles
L2 60 298
P P 3-M LEAF 15 15 15 3-M LA Hradl
\ screw \ screw -
} . } ‘ Rt
i . ! i . ! CHAY
| i iAW i . il w
to- o gfl= |tOo O oo
: ‘ | ‘ 1 : ‘ 1 1 ‘ ! HZ
| | | s | | | - S
[ | ] | | | | sie g
[l T T T o [l T T T o
= M 1% o
3 3 JZME
(Grommet)
SEHS B rzmeg)[ == [ ©t [#214BukPrice] (E244 0HO|LA2 Bt Phillips-standard-head screw E =uypy)
agu_m LijL|WiH|P |t M oo Code | Price 43 Quantity | EF7} Price sE:  WPIR o= T e ET(C)
C-1209-13[ @ [3D40[30]15[10]15] 6 [M6| 38 [23664 F«oueom LijL2| S |WIM|code|Price [oem[epic| &
C-1209-14| @ |3D|50(40(20(10|20| 6 |M8| 66 |23665 C-209CS-M5X10| @ |3D |10 23838 2 ZEIM
3.5/8.0(1.2|M5 [ APSEIN
C-1209-15| @ |3D|60|50(25[10|25|10 |[M10| 132 |23666 C-209CS-M5X15| @ | 3D [ 15 23839
C-1209-23 (| @ 40/30(15|13|15| 6 |M6| 37 [24010 C-209CS-M6X10| @ |3D |10 40/10/1.2|v6 23841 E AL
C-1209-24 | ® 52(40/20|15/20| 6 |M8| 64 [24011 C-209CS-M6X15| @ [3D | 15| ' 23840 T Aad
C-209-11 | @ |030/40(30|15|10[15| 5 [M5| 26 (21821 C-209CS-M8X15| @ |3D |15 5513 /14| M8 23842 E
C-209-12 | @ |030|40(30(15[10|15| 3 |M6| 36 |21822 C-209CS-M8X20( @ |3D (20| ' 23843 (5
C-209-13 | @ |030/40(30|15|10[15| 6 [M6| 38 (21823 C-209CS-M10X16| @ |3D |16 7.011712.0 M0 23844
C-209-14 | @ |1030|50(40(20|10|20| 6 |M8| 66 |21824 C-209CS-M10X20| @ |3D |20~ ' 23845
C-209-15 | @ (1030|6050 (25|10 |25 |10 |M10| 132 |21825 @:RoHSCHEE  A:RoHS of CHE 7hs#LICH XOiE FE2 o MzisHELICH
C-209-21 30|40 30]15]13]15] 5 [M5| 26 [21826 (obolLdA EFel) Standard-head screw
C-209-22 | @ |0|40|30|15|13|15| 3 |M6| 36 (21827 il o D L] s [wim 25 | 2ot [#2mukeie
C-209-23 00[40(30|15|13|15| 6 |M6| 38 (21828 Product No. [T et Code | Price |50y |7t Price
C-209-24 | @ |030|52140(20(15|20| 6 |M8| 72 |21829 C-209-M5X10| @ |3D |10 35080 M5 23276
C-209-25 | @ (1030|6050 |25|15|25|10 |Mi0| 135 |21830 C-209-M5X15 3D 15|77 12 23277
C-209-31 | @ |30 55|45 |15 15| 5 |[M5| 48 |23538 C-209-M6X10| @ |3D |10 20! 10 ' M6 23278
C-209-32 | @ |030| 55|45 15 15| 3 [M6| 36 (23539 C-209-M6X15 3D|15] 23279
C-209-33 | @ |030| 55|45 15 15| 6 |[M6| 52 [23540 C-209-M8X15( @ |3D |15 55013 11.6/M8 23280
C-209-34 | @ |30 70|60 | 20 20| 6 (M8 88 (23541 C-209-M8X20 3D (20| ' 23281
C-209-35 | @ |030| 85|75 | 25 25|10 |M10| 192 (23542 C-209-M10X16| @ |3D |16 70117 12.0lm0 23282
C-209-41 | ® (3D 5 |M5| 62 (23667 C-209-M10X20| @ |3D (20| ' 23283
C-209-43 | @ |3D 6 IM6| 68 [23668 @:ROHSCHSE  A:RoHS of CHS 7t #LIct, oI FE2 of MASHELICH
®: ROHS CHSE  A: RoHS ofl CHS 7Hs &L, KON FE2 of MY ELICH
MR EXE OB EE TY HRGEIER 28l
Green bolts for earth terminals W /”L‘ Coating range (head green)
i ! oA HE E(c2700W)
I e BT OF2: ol I - £X| Y2l =&
e ==p )
. . ® Material: Brass bar (C2700W)
S Lol L ® Finish: Acrylic resin baked (green)
C-209-M C-209CS-M ‘ !
\ o
(ofolLdA Bt [Z{A OtolLiA EFRl) N S22

Standard-head screw  Phillips-standard-head screw

1263



